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Question Number : 1 Question Id : 2839364801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The range of the function f(x)=log,. (x' =2x"+3) is
(DODSN f(x) =log,, (x' —2x* + 3) Ty T§

Options :

28393619201, ¥ (=90, ™)

28393619202, ¢ (-, —1]

28393619203, * [—1,%)

28393619204, * [—1,1]

Question Number : 2 Question Id : 2839364802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If P is a non-singular matrix such that I+ P+ P>+ ... + P"= 0 (O denotes the null matrix),

thenP ' =

PR .8 rerde @8, 1+ P+ P2+ ... +P'=0 (0 5 Sr@8) drdaod) edhsety
&O%), @ P! =

Options:

28393619205, ¢ P"



28393619206, ¥ — P

28393619207, * — (1 +P+ ... +P")

28393619208, % — (L +P+...+P™)

Question Number : 3 Question Id : 2839364803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

then the difference

If z, and Z, are complex numbers such that izl + 22‘ = ‘zl‘ +12,

in the amplitudes of Z, and Z, is
o5 T &) odgNonse e 2,

-
Ly

7,980 z, & |z, + 2,

:‘ZL‘+

DOAN 2, © TNE) easrw © ZSSn

Options :

T
28393619200, ¥ 4

Wy

28393619210. #

T
28393619211, % 2

28393619212, ¢ 0



Question Number : 4 Question Id : 2839364804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Ifi=+—1then 1 +1*+i*+i®+ ... + 2=

i=+-1 ®ocnd 1+2+it+i%+ .., +i20
Options :

28393619213, % |

28393619214, % -

28393619215, ¢ |

28393619216, % -1

Question Number : 5 Question Id : 2839364805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If one root of the equation 4x* — 2x + k —4 = 0 is the reciprocal of the other, then the

value of k is

4% = 2x + k =4 = 0 8BS0 TE) 2.8 00, HFE '8 381890 ond,
©0)) )00 K 0)eo)

Options :

28393619217, % - 8

28393619218, ¢ 8



28393619219, % - 4

28393619220, % 4

Question Number : 6 Question Id : 2839364806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the expression.x” + 3" —9x+ 4 is of the form (x-a ]2 (x- ), then the values of A are

© 4352~ 9+ 4 5850 (x-a) (x- ) &ross &od, e A B deven

Options:

28393619221, % 27, -5

28393619222, % -27,-3

[

28393619223, # 27,5

28393619224, ¢ 27,3

Question Number : 7 Question Id : 2839364807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The number of ways of arranging all the letters of the word “SUNITHA” so that the vowels

always occupy the first, middle and last places 1s

919 )00 DO IR FNGE, st 00N VS8 eSS Goder “SUNITHA” ©F
0D ©R) ©ETOD ®©HE O AT Howg

Options :

28393619225, % 2040
28393619226, % 24
28393619227, % 3

28393619228, v 144

Question Number : 8 Question Id : 2839364808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

10
If the term independent of x in the expansion of [\E —i] is 405, then k=
X

10
[\/E —iJ Fg), 8D S 1 B H30 405 ©and, ) & k=
X

Options :

28393619229, * *1
28393619230, ¥ U

28393619231, ¢ £ 3



28393619232, % £3

Question Number : 9 Question Id : 2839364809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If .3 (gt E [3] C
= ,en pl—|+0L =
(x=1)(x-2)(x-3) R el = w3 2
x’ A B & 3
=p(x)+ ) 5 + & 3% pl=|+C=
(x—1)(x-2)(x-3) nH PERFTEATT R e IJ(Z]JF

Options :

28393619233, % 0

28393619234, ¥ 8

17
28393619235, # 2

28393619236, ¥ 48

Question Number : 10 Question Id : 2839364810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



For 0<x<m,if s X 48105 ¥ _30  thenx=

... 2
O<x<m & 815" ¥ 1g1°0% ¥ =30 eoond, eyt x =

Options :

x
28393619237. ¢ 6

=5

28393619238. #

—
Lh

28393619239. #

i
28393619240, ¥ 8

Question Number : 11 Question Id : 2839364811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If Sinh(logx)=-2 thenx=

Sinh(log x) = -2 eond x =
Options :
28393619241, ¢ J5-2

28393619242, # 2445

28393619243, % —(2+ J5)



28393619244, # 2—+/5

Question Number : 12 Question Id : 2839364812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[n an isosceles right angled triangle, a straight line is drawn from the mid point of one of

the equal sides to the opposite vertex. Then a pair of possible values of the cotangents of

the two angles so formed at that vertex are

2.8 ©02 §t3 5B 5270 (B2HB06, H8r 2hererd’ 28R TE) e Hotey ok
SO GoT T8 28 NEY B s, 30w IO o 8BS Bodkh e
EeroB0olS 0% FSsahs deovde 288 2,88

Options :

| and 2
28393619245, # 1 08Chn 2

2 and 3
28393619246, ¢ 2 «08AW 3

3and 4
28393619247, % 3 HBAW 4

4and 5
28393619248, % 4 DOOW 5

Question Number : 13 Question Id : 2839364813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If the position vectors of P and Q are }+2}~TE and 53—3}+4E respectively, then the cosine

of the angle between P_Q and Z-axis is
P, Q © % SO0 SONMT i+2j-Thk L0 5i-3j+4k eand, ©3)% PO HOW

Z- 9% 0 D350 Feao TnE) TN deva
Options :
4

28393619249, # 162

11

28393619250, ¥ V162

5
28393619251, # 162

-5
28393619252, ¥ V162

Question Number : 14 Question Id : 2839364814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

a,b,c are three-unit vectors such that ‘a+b+c‘]:l and ¢ is perpendicular to h. If e

makes angles a, f# with a,brespectively, then cosa +cos f =

‘a +!.:-+c‘ =] S0 b & a oo GOTEDT P COFRE DATen E,Eﬁgm

G0w. ¢ DOF a,b O SOIT ¢, B Feren BV, ©HIW cosa +cos f=

Options :



28393619253 % 1

28393619254, ¢ -1

28393619255, ¥ 2

28393619256, % -2

Question Number : 15 Question Id : 2839364815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Two numbers b and c are chosen at random in succession without replacement from the

set{1,2,3,...,9]. Then the probability that x* +bx+¢ >0, VxeR s

11,2,3,...,9} A& 0d dirdy 8o 2.8 o 3026 SHFEEm Boch dosen b, ¢

O, B T BA 9y TE IR0, AOHKTIE. 99 x* +br+e>0, VreR
PR3 (1) 02§
Options :

29
28393619257, ¢ 72

32
28393619258, # 81

45
28393619259, # 143



82
28393619260. ® 125

Question Number : 16 Question Id : 2839364816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A student is given 6 questions in an examination with true or false type of answers. If he

writes 4 or more correct answers, he passes in the examination. The probability that he

passes in the examination 1s

28 HBES, 85) B 2.5 SrdB HSrgraren HORS e (HH 0 2.8 Dords amr 8.
@& T B @0SE0T) D) BN NSFTTOD TRILNES, @d H8FS
GAUS POV, 8 KB5S aades FOOT Horss

Options :

28393619261, ¥ 32

28393619262, ¥ 32

11

28393619263. ¢ 3

3
28393619264, ¥ 32

Question Number : 17 Question Id : 2839364817 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 X
If P(X=x)= c(gj ;x=1,2,3,4,... is a probability distribution function of a random
variable X, then the value of ¢ 1s
2 X
P(X=x)= c*[;] ;x=1,23,4,... 936 2.8 APy ¥ e 077 X Ty dozrsse

DT DDOHO ONS, €968 € e

Options:

1
28393619265, ¥ 4

1
28393619266, ¥ 3

1
28393619267. ¢ 2

|
28393619268. # 6

Question Number : 18 Question Id : 2839364818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[f t is a parameter, A = (asect,btant), B =(-atant,bsect)and O= (0, 0) then the

locus of the centroid of AOAB is

t 00 o8 Jo0e, A =(asect,btant), B = (-atant,bsect) n8cn O = (0, 0)
ood, AOAB T So|derno Ghng) Hothngo



Options :

28393619269, ¥ Xy =ab
28393619270, * XV =9ab
28393619271, % X —9y =a" —=b

=l i ] ] ] el
X =—(a“ —h‘)
28393619272, 9

Question Number : 19 Question Id : 2839364819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The angle by which the coordinate axes are to be rotated about the origin so that the

transformed equation of +3x” + (ﬁ —]].r_v ~y* =0 would be free from xy term is

Qe oF 0 e Hothay Sy 2 S50 & B@0 TR V3x +(v3 - 1)_U= ~y* =0

Ty HB5GS DEGE S xy 330 SHV0E & Feao
Options :

28393619273, # 45°

28393619274, % 22.5°

28393619275, % 15°

28393619276, ¢ 1-9°



Question Number : 20 Question Id : 2839364820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I the slope of a straight line passing through A (3,2) is 3/4, then the coordinates of the two

points on the same line that are 5 units away from A are

A(3,2) oo 3D 2.8 6% B arew 3/4 o, A S0 oF 09 2 5 A &rdo &
&03 DotYe ABDTEN

Options :

28393619277, * (~7:5):(1,~1)

»8393619278. ¢ (7+3)s(=1.-1)

28393619279, # (6-9)-(=2.3)

28393619280, * (6:3):(=2.—3)

Question Number : 21 Question Id : 2839364821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The range of ‘a’ so that a'x’ +2.7cj»'+-4_1’2 =() represents two distinct lines is

a’x +2xp+4y" =0 %580 Dotk DD Berd SPOOTEL™ &) 'a’ Bk

5



Options :
1 -1

gE—ordes—
28393619281. #

—=<a = l
28393619282, ¥ 2 2

-1 I

—Lg < —
28393619283. ¢ 2 2

| —1
az—or as—
28393619284, # 2 2

Question Number : 22 Question Id : 2839364822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If a diameter of the circle x*+” —4x+6y~12=0 is a chord of a circle S whose centre is

at (-3, 2), then the radius of S 1s

X+ =4 +6y-12=0 T Syebesn T 2.8 g0, (-3, 2) 5O 301650 $ORS 2.8

3980 S T8y 205 oS, ) S T} rsRrien
Options :
28393619285, v SV3

28393619286, % 43

28393619287, % 2V3



28393619288. * 5

Question Number : 23 Question Id : 2839364823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a circle passing through A(1, 1) touches the X-axis, then the locus of the other end of the

diameter through A 1s

A(1, 1) 500 D 2.8 $9S80 X- TR 0)300B), 9160 A HOE HFTD 400
O30E), 0TE T BBwg), VoGO

Options :

28393619280, % (X +1) =4y

28393619200, % (¥—1) =4x

28393619201, v (X —1) =4y

28393619202, % (¥ +1) =4x

Question Number : 24 Question Id : 2839364824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If two circles x° +)° —6x—6y+13=0 and x’ +* -8y+9=0 intersect at A and B, then

the focus of the parabola whose directrix is the line AB and vertex is the point O(0,0) is

¥ 4y =bx-6y+13=0 8a% x*+y' -8y+9=0e3 Bok SyZen A, B © ¢
2030t FoB @)t AB B9 Aahe B, 0(0,0) Doctey IS HORS Horsecho

%8 Do)
Options :

53)
28393619293, # \2 9

s)
28393619294.*:?[ 33

a5

&
28393619295, % \ O 9

B
28393619296, % \J D

Question Number : 25 Question Id : 2839364825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



. . . . . . . . .?(2 o .
A particle is travelling in clockwise direction on the ellipse — +§—5 = 1. Ifthe particle

leaves the ellipse at the point (=8, 3) on it and travels along the tangent to the ellipse at that

point then the point where the particle crosses the Y-axis s

2.8 8800 055 OIS BY 9B :—; + g =172 RDArsdod. & §00 H3Syo D fo
(—8,3) Dothe) SO B ST, HOO &8 Dotred 30 AY H9FR8 e D)8 T Joad
$C0endro, & 8630 Y - 98 0080 %3¢ rendod & Hoths

Options:
7
( []5 _J
28393619297, % \ 3

%)
28393619298, ¢ \ 3

28393619299. # (0’9}

—25
[D, 1
28393619300, * 3

Question Number : 26 Question Id : 2839364826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If the equation of a hyperbola is 9x” —16y” +72x~32y—16=0, then the equation of its

conjugate hyperbola is

2.8 98 HTHOAH0 T dEG0 9 16y +72x-32y-16=0 wond o
D00} 96 DTHOAN0 TI0E) DB

Options :



28393619301. ¢ 9x* —16y° +72x—32y+272=0
28393619302, % 9" —16y" +72x—32y+288=0
28393619303, # 9x* —16y° +72x—32y—38=0

58393619304, * X" —16)* +72x-32y+16=0

Question Number : 27 Question Id : 2839364827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the direction cosines (/, m, ) of two lines are connected by the relations

[+m+n=0 and Im=0, then the angle between those lines is

B0k Bpe> TnE), BF Fw (1, m, n) ex [+m+n=0000% Im=0 Joxorre
0" $0° 90005 GOt @) & Be s o Swo

Options :

i
28393619305, ¢ 3

b/ 4
28393619306. * 4

(S

28393619307. #

b/ 4
28393619308, # 6



Question Number : 28 Question Id : 2839364828 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The sum of the squares of the perpendicular distances of a point (x, y, z) from the

coordinate axes 1s k times the square of the distance of the point from the origin.

Then k=

NErHNE e Hod a8 Doty (x, v, 2) § e eow drore ST Jso, &
20950 D)ot od e Grdo TRus) ST8 k B &o®), k=

Options :

28393619309, ¥ 2

28393619310, ¥ 3

28393619311, % |

28393619312, % 4

Question Number : 29 Question Id : 2839364829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Equation of the plane through the mid-point of the line segment joining the points

A(4,5,~10)and B(-1,2,1) and perpendicular to AB is

4(4,5,-10), B(-1,2,1) & $& Bgrpocio Hiss Docha) thom fdr B0k AB §

©O0OIT K i T} NaLEGRO0



Options :

28393619313, # 10x+6y—22z+135=0
28393619314, ¢ 10x+6y—222z—-135=0

28393619315, ¥ 2X+3y+11z=135

28393619316, % 10Xx+6y—22z+185=0

Question Number : 30 Question Id : 2839364830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(2x-3)(Vx-1)

lim - =
=1 2x"+x-3

Options :

|
28393619317. % 10

|
28393619318. ¢ 10

2
28393619319, # 3

28393619320, ¥ 3



Question Number : 31 Question Id : 2839364831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If a isavector such that @x7 = +k and .7 =1, then equation of the line passing

through the point i + j + k and parallel to a is

Axi =] +k 0000 7.7 =1 odher &) o8 NOF 7 owd , 7 K SSrosdor
&oear, Doy i +j + k o 550 Bar HEESm0

Options :

28393619321, v I = (1 + i +(1—1)j +(t+ 1k

28393619323, % F =i+ 1] —1k

28393619324, % ¥ =3ti+ Tt j+k

Question Number : 32 Question Id : 2839364832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The equation of the normal at 1 = — to the curve x =2sint, y=2cost is

[

x=2sint,y=2cost 508 t = % S8 D0 B TnE), DaEG0
Options :

28393619325, # ¥ =2



28393619326, v ¥ =0

28393619327, % YV =2X+3

28393619328, % ¥V =3

Question Number : 33 Question Id : 2839364833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ax=
iy s 3
1-2sin” xcos” x

J- sin® x—cos® x
Options :

1
—Ccos2x+c¢
28393619329, ¥ 2

—cos2x+cC
28393619330, ¥ 2

=
=+c

28393610331, % (1+tanx)

—sin2x+¢
28393619332. ¢ 2

Question Number : 34 Question Id : 2839364834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
I llog,, x|dx =

1/2

Options:

)
1U‘gllb
28393619333, # €

| 8
_IDELU T
28393619334, ¢ 2 e

:)
I{Jg]“ _?
28393619335, # €

3
log.| —
28393619336, % €

Question Number : 35 Question Id : 2839364835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two tangents are drawn from the point (~1,-2) to the parabola _vz =4x . If @ is the angle

between these tangents, then tan 0=

yh=dx S08008 (~1,-2) Doy S08 Boch §)8) Tpen Aicrd. & H)5) Tpe

0855 1o 8620 0 eond, )¢ tan 0 =

Options :

T
28393619337. ¥ 4

28393619338.



o |5

28393619339, ¥ 3

28393619340, ¥ 6

Question Number : 36 Question Id : 2839364836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If ¥ :[?_,-x)—:r R 1s defined by f(x)=x>—4x+35, then the range of fis

f:[2,00) > R @I f(x) =x" - 4x + 5 T Q8 D048, @:))ch f 0hs) o5

Options :
28393619341, * R
28393619342, ¢ [1; ®)

28393619343, % [4 %)

28393619344, ¥ [ )

Question Number : 37 Question Id : 2839364837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



5 S5a «
If A=|0 a Sa|and det(A*)=25, then |a]=

0 0 5
5 5S¢ «a
A=[0 a S5a| 080% det(A’)=25 wond, e |o|=
0 0 5
Options:

28393619345, %
2
28393619346, ¥ I

28393619347, % 1
1
28393619348, ¥ 9

Question Number : 38 Question Id : 2839364838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
| +icosd

If ———— is purely real then cos’ @+sin’ @+cos@+1=
| —2icost

| +icost
| —2icost
Options :

IO 2.8 HY TIPS, cos’ @+sin’ @+cosf+1=

28393619349, % 0



28393619350, % |

28393619351, ¥ 2

2 2+42)
28393619352, # 4

Question Number : 39 Question Id : 2839364839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

T : . ; 2 .
If 9:?, then the 10" term of the series 1 +(cos@+isin (‘?)] +(cos@+isin@) +...is
)

9=%e-_t}m}§ 1+ (cos@+ising) +(cos@+ising) +... (363 g, 105 HeSaw

Options :

28393619353, % -I

28393619354, ¢ — 1

J3i
+_-.-.—.-.
b

]
28393619355, % 2

28393619356, % 1

Question Number : 40 Question Id : 2839364840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

_ i , ; ; b-d
If (x-2) isacommon factor of the expressions x* +ax+b and x* +cx+d, then —=
c-a

(x-2) R0 ¥’ +ax+b HOM x* +cx+d VSTV )& SIS0 NS, @93 )ch

Options :

28393619357, % 1
28393619358, ¢ 2
28393619359, % 3

28393619360, * 4

Question Number : 41 Question Id : 2839364841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The roots of the equation x’ —14x° + 56x—64 =0 are in

x' —14x% +56x — 64 = 0 DaNEB0 WL Soreren
Options:

arithmetic-geometric progression

28393619361, % 05 - e RES eoerow

harmonic progression

58393619362, % TTE58 BAS Goeraw



arithmetic progression

28393619363, # ©O5 BAS soerow

geometric progression

58393619364, v 108 (BES roerow

Question Number : 42 Question Id : 2839364842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The number of all four digit numbers that can be formed with the digits 0, 1, 2, 3, 4, 5 when
the repetition of the digits is not allowed, is

B3O HRTHITR) SDDBOVEFS 0, 1, 2, 3, 4, 5 @030 85380 @) menth
BOTO OV OB

Options :
28393619365, % 360
28393619366, *¥ 600

28393619367, % 240

28393619368, ¥ 300

Question Number : 43 Question Id : 2839364843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

100
The number of rational terms in the binomial expansion of (V5 + 1/4) s

(45 +38)" S8 6596 D350 D e¥sBah Hse Hows

Options :

28393619369, % 10
28393619370, ¥ 20
28393619371, ¢ O

28393619372, %

Question Number : 44 Question Id : 2839364844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(1+tan32%)
(1-tan48®)

Options:

28393619373, ¢ |

28393619374, % 2

28393619375, % 3

28393619376, % 4



Question Number : 45 Question Id : 2839364845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, if #,=2r, =3r,, then E-}~E+£ -
¢ d
" . a b ¢
345 L@EﬂJBE-D AB(, ESE, 112213:3;'1 f_}}m@ @@JC&) f_+_+_:
b €

Options :

75
28393619377. ¥ 60

155
28393619378. ¥ 60

176
28393619379. ¥ 60

191

28393619380. ¢ 60

Question Number : 46 Question Id : 2839364846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The position vectors of the points A, B are a,b respectively. If the position vector of the

point C 15 E+ﬁ. then
2 3

a,b € ST AB Dotoge S HBFen. Doy C aE) 37 O3 %{ oS



Options :

C lies inside AOAB
28393619381, ¥ AOABS S0 C &otnod

C lies outside AOAB but inside £AOB

8393619382, ¥ AOAB Tender C &0enod, 0 LAOB S He C &otnod

C lies outside AOAB but inside ZOAB

8393619383, ¥ AOAB Tewnder C &soenod, s ZOAB Shes C &0enod

C lies outside AOAB but inside Z/OBA

18393610384, % AOAB Bende C eotnod, s ZOBA 5o C &0enod

Question Number : 47 Question Id : 2839364847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

if[a =1, [f|=2. [a—5] +[a+28] =20 then (a.5)=

[d]=1, a—H +[a+28 =20 wand, epyc (a.b)=

E‘:z,

Options:

W |y

28393619385, #

=N

28393619386. #

i
28393619387. ¥ 6



q

e

28393619388, ¢ 3

Question Number : 48 Question Id : 2839364848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In a non-leap year, the probability of getting 53 Sundays or 53 Tuesdays or 53 Thursdays is

O3 0565150 TR D058 1508 53 8dTTen B 53 Hofgroren B 53 HfToren
T8 D02r eh

Options :

28393619389, ¥ 7

~ |2

28393619390. =

~|w

28393619391. ¥

4
28393619392, # 7

Question Number : 49 Question Id : 2839364849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If each of the points (a,4), (-2,b) lies on the line joining the points (2,-1) and
(5,-3) then the point (uh) lies on the line

(a,4), (=2,b) DotoHOS (HE HotvY (2,-1) DO (5,-3) Dot O
507 Bgya) oD, @) (a,b) Docthe) OB

Options :

28393619393, % 0X+6y—-25=0

28393619394, ® X+3y+1=0
28393619395, ¢ 2X+6y+1=0

28393619396, % 2X+3y—5=0

Question Number : 50 Question Id : 2839364850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If C(a,f) (a<0) is the centre of the circle that touches the Y-axis at (0,3) and makes

an intercept of length 2 units on positive X-axis, then (a, f) =

Y- (0, 3) 5@ @ Hochr 00050 Grred 8 X-e08 02 2 o) Feeiier
@0SEPOFR) D S0 Tk Fodo C(a f) (a<0) wans, (o, f) =

Options :

(-3.V10)

28393619397. #

-3, -+10)

28393619398. # (



[— 10,3]
28393619399,

—/10,-3)

28393619400. # [

Question Number : 51 Question Id : 2839364851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The equations of the tangents to the circle x° +y* =4 drawn from the point (4, 0) are
(4, 0) DOy D0 X'+ =4 ©F STV ADS 336 B © HDEGeren

Options :

28393619401, ¥ Y3y =1(x-4)

28393619402, % Y3y =12(x-4)
28393619403, # V3x = +(y—4)

28393610404, % V3% =£2(y—4)

Question Number : 52 Question Id : 2839364852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The equation of the parabola with x+2y =1 as directrix and (1, 0) as focus is

(1,0) 70 e, x+2y =1 Q005 BY P Hed DTN HNEGEISN



Options :

28393619405. ¥ 4x* - 4xy + y: —Bx+4y+4=0
58393610406, % X’ —4xy+)’ —4x+4y+4=0
58393619407, % 4X —4xy+y’ +8x+4y+4=0

2 : 2 B . . ax
28393619408, # X —4xy+y —8x+4y+4=0

Question Number : 53 Question Id : 2839364853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If an ellipse with foci at (3, 3)and (-4, 4)is passing through the origin, then the

eccentricity of that ellipse is

(3,3) 0K (—4, 4) SF T EOAS 2.8 A S9do Sredotns how

S, 01 & OF Syb0 TwE) &d) 0\

Options :

5
28393619409, v 7

3
28393619410. % 7

]
28393619411, ® 7

28393619412, #



-~ | =

Question Number : 54 Question Id : 2839364854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a, b, ¢ and k are non-zero real numbers and [jm x(gl 4 B plE gl ] =0,

b 1

then k=

a, b, ¢ B k & TFS8 A SoPgen HOAM [im x(a] b 4 -3k ) =0

eond, k =
Options:

28393619413, % 0

1/3
28393619414.vf(“hf)

_| .J.
28393619415, % (abc)

28393619416, % |

Question Number : 55 Question Id : 2839364855 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



T dy
If tan y =cot| ——x | then — =
[4 ] dx

T !
tan_v:cm(——_rJ o Es ﬂ:

4 dx
Options :

-

cosec” (= —x
(4 )

Lo 4
| +cot™(—+x)
28393619417, # 4

3,
—C0Séc’' |——Xx
(4)

sec’ y

28393619418, #

5 T
cosec (——Xx)
4

it
1+tan’ (= —x)
28393619419, # -

9 AL
sec” + X
ec {4 )

4+ I
l+tan (— + x)
28393619420, ¢ 4

Question Number : 56 Question Id : 2839364856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If x=32cos’@ and y=4tan’# then (d—}J -
dx )g—z/

x=32cos’ @ 2800 y=4tan’d eons, [d—lj =
f=x'4

dx



Options :

28393619421. % 9

28393619422. % 9

16

28393619423. % 9

32
28393619424. ¢ 9

Question Number : 57 Question Id : 2839364857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-

If I,T_[,I'SCC_,T+Iaﬁﬂ ."[') s -x" +_f'[_1-}+(-,then f(’l.):

(xtanx+1) xtanx + 1

-

> ci.r=;r+_f'[.r)+f oNS, @Y [ (x) =
(xtanx+1) xtanx + 1

j. _1': (_r scc: X+ tan _1']

Options :
58393619425, log|xsin x + cos x|+ ¢

58393619426, % 10g|xcosx+sinx|+c

58393619427, ¥ 2 lug]x sin x 4+ cos x| +c



28393619428. # 2|03|-T¢'~"sx+sinx +c

Question Number : 58 Question Id : 2839364858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sin” x

J. : dr=
© §INX+COS X

Options :

_ \Elog(ﬁﬂ]

28393619429. =

LIt::;_,{(x/EH]

28393619430. ¥ \/3

lug(@ﬂ)

28393619431. *

iI{'.tg(\:@—])

28393619432. * 'JE

Question Number : 59 Question Id : 2839364859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



[f m and n are respectively the order and degree of the differential equation of the family

of parabolas with origin as its focus and X-axis as its axis, then mn —m + n =

ATOD0YN TDMTY, X- 9500 @F0r (008 JTdeaire $utno20
T30} @980 D8N DOSTED DA BEHS SESM m DHBSD 1 WoNS,

@) mn—m+n=

Options:

28393619433, ¥ 1

28393619434, % 2

28393619435, ¥ 3

28393619436, % 4

Question Number : 60 Question Id : 2839364860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Iff(x) = =1 x |, then (fofof )(x) + (fofof ((—x) =

[(x) =~ x| o008, @) (fofof (x) + (fofof (—x) =
Options :

28393619437, ¥ —2(X)

28393619438, % |/ (%))

28393619439, v 2./ (X)



28393619440, % ~ M ()

Question Number : 61 Question Id : 2839364861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P is a 3 x 3 square matrix and Tr(P)#0.If

Tr(P)
Tr(P")

Tr(P-P")+ Tr(P+PT)+ +Te(P)x Tr(PT) =0 then Tr(P) =

P 2.8 3x3 dtied SR Sr(es HBasn Tr(P)#0

Tr(P-P")+Tr(P+ T’T)”l:([;}—]”r{f’]x Tr(PT)=0 owd Tr(P)

Options:

28393619441, % 0
28393619442, ¢ -1
28393619443, % 4

28393619444, % 3

Question Number : 62 Question Id : 2839364862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If @, are non-zero integers and 2 =(a+if)(2+7i) is a purely imaginary number, then

. 2.
minimum value of 1S

0, B e T30 pgopsen, z=(a+if)(2+7)HQ 506 Soms wons |z " Bog) L3

RIDVN]

Options :

28393619445, % U

28393619446, v 2809

28393619447, * 2808

28393619448, ¥ 1

Question Number : 63 Question Id : 2839364863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The sum of the roots of the equation e* —10e” +29¢* —20¢' +4 =0 is

HESe0 €Y —10e™ +29¢* — 20’ +4=0 TwE) JHrere Iwdo

Options :

28393619449, % 10ge 10

28393619450, ¢ 2 10ge 2

28393619451, % 108 2



28393619452, % 2 loge 10

Question Number : 64 Question Id : 2839364864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of four digit numbers that can be formed using the digits 1, 2, 3,4, 5, 6, 7

which are divisible by 4, when the repetition of any digit is not allowed, is

TS @030 60 Fafom, 1, 2, 3, 4, 5, 6, 7 ©0300038rA0D J81ESEOT 4

®08® N0V 4 T 2rhotad dowe Howy

Options :

28393619453, # 100
28393619454, v 200
28393619455, % 300

28393619456, % 400

Question Number : 65 Question Id : 2839364865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The coefficient of X in the expansion of (1+ x)"" (] i ]"”' s

-

1+ x)" (1-x+x*)" 298" x* T Measaw



Options :

28393619457, ¢ 0

28393619458, % -1

28393619459, * 30

28393619460, * 100

Question Number : 66 Question Id : 2839364866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sina +cosa =m = sin®a +cos’ & =

Options:
-4+3[m-2 —]];
28393619461, % -
4—3(:1:1 —l)"
28393619462, ¢ 4
3+4(n13—]]h
28393619463, % 4

4—3(.*113 + l):

28393619464, % 4




Question Number : 67 Question Id : 2839364867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If jsin(lULﬂ{sin x)” dx = SO0 Sy +c then o =
7, )7
jsin[l[}lx}(sinx}wdx = iy e, +¢ @ons, @I -
i 7,

Options :

28393619465, ¢ |

28393619466, ¥ 2

28393619467, * 4

28393619468, ¥ &

Question Number : 68 Question Id : 2839364868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A and B are two events in a random experiment such that
P(A)+P(B)=2P(AB) then

P(A)+P(B)=2P(A(1B) eddseen 2.8 airdyd ¥ 1033 HoeS
A 00050 B e Bodd S0eden eoons e0:))3ch

Options :

28393619469, % F(4)+P(B)=1



-8393619470. ¢ F(4)=P(B)

28393619471, % F(4)+P(B)>1

28393619472, % P(A)=0,P(B)=1

Question Number : 69 Question Id : 2839364869 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The image of every point lying on the curve x* +y” =1 in the line x+y=1 satisfies
the equation

x+y=1 588 B S9ars 17 + 7 =1 3150 B Ko 198 Hods TE) HAD0D0T &%)
05 Deb¥de0
Options:

28393619473, % X t¥ +2x+2y+1=0

28393619474, # X+ —2x+2y+1=0

28393619475, ® X +¥V +2x-2y+1=0

28393619476, v X +V —2x=2y+1=0

Question Number : 70 Question Id : 2839364870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

If the inverse of P(-3,5) with respect to a circle is (1, 3), then polar of P with respect

to that circle is

28 d9Bo dgaFs P(-3,5) T8y S0 (1, 3) o, @) & Sy Syars P
g}, (050D

Options :

28393619477, % X+2y =7
28393619478, * 2X—2y+4=0
28393619479, ¥ 2X—y+1=0

28393619480, % 2X+y—5=0

Question Number : 71 Question Id : 2839364871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

—x’ g,

= 1 :
The derivative of — with respect to
1+ x° l1+x

Fa

~
e

¥
= 7 CBwE) esfedo

X
S 5 Soals
1+x

1—x
1+x

-2

x=

Options :

28393619481, % 0

4
28393619482, ¢ 3



28393619483, # 1

4

28393619484, % 3

Question Number : 72 Question Id : 2839364872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g x5 i : .
If the function f(x)= §+—. (x#0) attains its relative maximum value at x =a then

X
Vo' +20-6 =

£(x)=242, (x#0) &7 EDhabo D 63 sk x=a 3¢ F068, Vo' +2a-6 =

7

3 X

Options :
28393619485, % 10
28393619486, % 0

28393619487, % I

28393619488, ¢ 3

Question Number : 73 Question Id : 2839364873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If J.E‘T (sin1 2x - 8-.:05.4,1'} dx=e"f(x)+c, then j[%] =

J‘E‘ (:t;in2 2x—8cos 4:{) dr=¢e"f(x)+c ®ond, @ngﬁéaj’(%} =
Options :

28393619489, % 0
28393619490, ¢ 1
28393619491, % -1

28393619492, # €

Question Number : 74 Question Id : 2839364874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2x

[+] is the greatest integer function then j Dsinx|+ |cos .r|]dr=
0

27

[+] @38 §82) FF0F HN0 LAWES, €95 )¢k j [|si11x\+ cos r\]dr -
0

Options:

T
28393619493, # 2

28393619494, # T



37
28393619495, # 2

28393619496, ¢ 27
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The general solution of %ﬂ-‘j'*(ﬁr]~j'{_~:]_f"(_r]=U, yv# f(x) is

—+y f(x)=f(x)f'(x)=0, y= f(x) D0E ITEL PSS

Options :

i —f(x)
28393619497, % V=S (x)+1+ce

] .r_ 'Ir[""l
28393619498, # YV =C€

28393619499, v ¥ =/ (%)

fix)

28393619500, % ¥ = (x)+ce
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If the system of equations X +ky+3z=-2, 4x+3y+kz=14, 2x+y+2z= 3 can

be solved by matrix inversion method then

X+ky+3z=-2, 4x+3y+kz=14, 2x+y+2z= 3 0T DDEBETO S$550:%
ST @5 DS DO 500 FO0S KOS 9%
Options:

9
k#0 and —
28393619501, # 2

9
k=0 or —
28393619502, ¥ p.

]
k#— and 2
28393619503. #

k:

]
— or 2
28393619504, # )
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If the slope of the tangent drawn to the curve y = 902 gt the point P(1,1) is -2, then

the value of 2a—3bis

Do P(1, 1) 8 8% y = e 8 A0 036 B e 2 eowd, 2a-3b3g,
2E0)

Options :

28393619505, ¢ 2



28393619506, % ©

28393619507, % /

28393619508, ¥ 8
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If the tangent drawn at the point P on the circle x* +y” +6x+6y=2 meets the straight line

Sx=2y+6=0 atapoint Q on the Y-axis, then the length of PQ is

X+ +6x+6y =2 $y80% f0 Doty P 5O A 0936 8, 5x=2y+6=0 8¢5
Y-050 208 Q Doty 3¢ Lenadot, @:)¢0 PQ e

Options :
28393619509, ¢
28393619510, * 4

28393619511, % 2

28393619512, % 1
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i

: i S0 nx
Ifn 1s a positive integer greater than 1 and / =r’ i dx, then [ .

3 n+l
Sinx

N RO 1§08 DEBS FTossm HBckw I = J'sm nx

—dx, w8 oy [,-1 =
sin X
Options :
COoSs (n —1)x
28393619513, % n—1
2.
—Slﬂ(}?-l]l’
28393619514, ¥ n—1
—COSn x
28393619515, # A
—sinn x

28393619516. ¢ M
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=

If fis defined on R such that f(x) f(-x)=9, then _[

3.f()

F(x)f(-x)=9 a3t TR D £ AR ea::;;gc:‘so]

Options :

51
28393619517. ¥ 3



28393619518, ¥ 3

28393619519, % 3

46
28393619520. ¢ 6
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If F1, F; and F; are the relative strengths of the gravitational, the weak nuclear and the
electromagnetic forces respectively, then

e 188, 080 o(% SO DFOCHR).06 ere 0l deten S Fi, F
80k F3 @@ond

Options :

28393619521, * i = E, = K

<F <
8393619522 v I1 =F <F

28393619523, % Fi =K, = K

F, >F, =F
28393619524, # < . -
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Which of the following pairs has same dimensions?

&: 806 2$OS A 2,8 Wb EOR aoar) ow?

Options:

Current density and charge density
98393619525, % VNS (DT O(LIeh DO es3F ro|Hed

Angular momentum and linear momentum
28393619526, % S EHO% (&35 Sifo SHOAH BHAH (&35 S0



Spring constant and surface energy
-8393619527. ¢ (RJON HT0E0 HON &IBSe $§

Force and torque
28393619528, % QO HBAW erby
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The relation between time ¢ and distance x of a particle is ¢ = ax’+bx, where a and b are constants.
[f v is the velocity of the particle, then its acceleration is

28 560 %), 00 £ OO GrBai x © &5 e N0DOGO ¢ = ax’+hx. §60 SK0 v WONS TR
¢ 50800

Options:
28393619529, ¥ -2abv’
28393619530, # 2bv’

28393619531, ¢ -2av’

28393619532, % 2av’
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A bomb is dropped on an enemy post on the ground by an aeroplane flying horizontally with a
velocity of 60 kmhr! at a height of 490 m. At the time of dropping the bomb, the horizontal distance
of the aeroplane from the enemy post so that the bomb hits the target is

60 kmh! S0 490 m JES’ § 23 DeSFOSEOT ANENS) 28 DSFS0 5T IO o) 2.8 ey
T80 2.8 27020 SB0RG0A. 2ro OFER) FF0W, 2row FEIAGT ddahod fey
T80 0G adrdo Godden § 8z asrosdd drdo

Options:

[4{1{1]
— |m
28393619533 #

[500}
— | IT1
28393619534, ¢ \ 3

[1?00)
— | IT
28393619535, % \ 3

28393619536, ¥ 498 m
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The angular speed of a particle moving in a circular path is doubled. Then, the centripetal

acceleration of the particle is

2.8 5858 SrPosS Eenchs) 2.8 Ee90 ) FIaH SAR B0y TS, S0 ©DF0S
é 920

Options :

28393619537.



4 times the initial centripetal acceleration
. SO 02)B0o| €6 582:50000850 4 Bew

halved
28393619538, * T8 S E00

doubled
28393619539, % OG0a) ©a)eh0ob

unchanged
28393619540, % JPOCD
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Two bodies of masses of 1 g and 4 g are moving with equal kinetic energies. The ratio of the

magnitudes of their linear momenta 1s

| g 5000 4 g (¢35 Trhen e Both Sepahen Suimsd fazdds Sdencorryow. e TP (¢35
Jme H0SrEre A8

Options :

28393619541, * 4:1

28393619542, % V2 :1

28393619543, ¥ 1:2

28393619544, % 1:16
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3
The displacement ‘s” of a body of mass 3 kg under the action of a force is given by s = % , where s’

is in metres and ‘t” is in seconds. The work done by the force in the first two seconds is
3
28 200 (HBFA0DYD 3 kg 1855073 B0 2.8 500 F|Eiod0 s= % 2%4's” DOJS

2000 ‘" EHOS 65, 8 200 SO THEE Bodh DEHOS 260 D
Options :

28393619545, # 32 ]
28393619546, % 3.8 1]
28393619547, % 5.2]

28393619548, ¢ 24 ]
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A system consists of two particles of masses m, and m,. If the particle of mass m, s moved
towards the centre of mass through a distance d, then the distance the second particle should be

moved, so as to keep the centre of mass at the same position is

2.8 3530 my SO My (Hizorhen o Toch Seroch 00 &od. m, (D507 (o Ser) (55073
301830 d Arod) 2608, ((s5o8 oo oF oS &ohes B8 Sar) S )se
drdo

Options :

28393619549, % 1M,

28393619550, ® M +M,

m

28393619551, ¢ M

28393619552, % 1M,
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If the radius of the earth becomes x times its present value, the new period of rotation in hours is

2PTERr0 (R0 enss) x BEY sans, I §8 [a0as00 fobed

Options :

28393619553, % 6x°



28393619554, % 12x*
28393619555, ¢ 24x°

28393619556, % 48x’
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For a particle executing simple harmonic motion, the kinetic energy of the particle at a distance of

4 cm from the mean position is g1'd of the maximum kinetic energy. The amplitude of the motion is

N3¢ Foris Yoo T 2.8 S0 ¥ ez 3§ TR Srcizans o dhod 4 cm SQ T
K65 fiedes 48 deneS % 0 068 @O DO 00 Bahed

Options :

28393619557, ¥ 2¥6cm

2
——= Cimn
28393619558. # \/g

28393619559. = \/5 cm

6
——CIn

28393619560. * V2
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A wire of length 40 cm is stretched by 0.1 cm. The strain on the wire 1s

40 cm 8569 o5y, % 0.1 cm FrEAFTR. KSR DEyed

Options :

28393619561, ¢ 25x107"

4
28393619562, % 40x10

28393619563, % 10x10™

e |
28393619564, # 12.5%10
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A straw of circular cross-section of radius R and negligible thickness is dipped vertically

into a liquid of surface tension T. If the contact angle between the liquid and the straw
material 1s 53°. The force acting on the straw due to surface tension of the liquid 1s

(cos 53°=0.6)

R a5arfo <00l eadduye H0k0 Ho af S9Bsd DG5mI00 o af Fhdw
S35 T Ko (3508 AenY™ S00IDA0B. (590 O FE0 HEG0 e85 38
5690 53 B1Hen @O, (5230 TNE), SeredI e SEEIOM MLV DVT P 0

(cos 53°=0.6)

Options :

28393619565. ¥



12aRT

6nRT
28393619566, % I

4nRT

28393619567. #

3ART
28393619568, # 5
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A solid metal sphere released in a vertical liquid column has attained terminal velocity in
the downward direction. The magnitudes of viscous force, buoyant force and gravitational

force acting on it are Fy, Fp and Fy respectively. Then the correct relation between them is

RNV GOT B Yoo SEoRdS & 6S'oF H¥o A AIS 985 Iy, Fodod.
A0 AT ) Je 200, €565 200 HOA Her s5de ere HBeTreD
ST Fy, F 08050 Fy. 20008 &8 206720 J8IPre) s06)§ 80 202080

Options :

18393619569, % 1B~ Fv=Fw

»8393619570. v TW=Fv+FB



Fg=Fw+ Fv
28393619571, % ~° WV

Fv=Fg + Fw
28393619572, #
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Two objects made of the same material have masses ‘m’ and ‘2m’ and are at temperatures

2T and ‘T’ respectively. When heat ‘Q is supplied to the object of mass *2m’, its
temperature raises to ‘2T". If the same heat is supplied to the object of mass ‘m’, its

temperature raises to

23 Do SOt ToHAS Bo SNHO (G5TeHED ‘M’ SHOA% 2m’ HBSK ¢
G0 SN 2T HOAW ‘T’ 2m’ |5a350°3 110 SN ‘Q’ &R0 NV
DODDENY I, R GeFfed 2T § D08, ©F Garv) ‘m’ (B50°7 e Sale) S
0O, TR G 0 585 DHHS0E?

Options:

28393619573, % 2T

3T
2

28393619574. #

28393619575, ¢ 4T

28393619576, % 31
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On a new temperature scale, the melting point of ice 1s 20 °X and the boiling point
of water 1s 110 °X. A temperature of 40 °C would be indicated on this new

temperature scale as

¢ ST S50, 50059 13DLB3S SF e 20 °X 58050 Ded o&oihesns)
&3 K 110 °X. & B &8 er o063 40 °C &8s der Srdodieod?

Options :

28393619577, % 00 °X

28393619578, ¢ 6 °X

28393619579, % 70 °X

28393619580, % 24 °X
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The percentage of heat supplied to a diatomic ideal gas that is converted into
work in an isobaric process is

030068 (DBOHES’ 2.8 B $HE557e08 €3¢58) TONYB DEHT® BAHEAS G0
&S’ B EFHOS & SrEBS TS0
Options :



28393619581, ¥ 62.7

28393619582, % /1.4

28393619583, ¥ 28.0

28393619584, % 34.6
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Ratio of translational degrees of freedom to rotational degrees of freedom of a

polyatomic linear gas molecule is

2T0NESTENE BDAH TONENE, FT0esSed ;S50[S DOeHEN SO
1256992 D 5e50(€5 DO AN

Options :

28393619585, % 1:1

28393619586, % 12

28393619587, % 2:3

28393619588, ¢ 3:2
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A ring has a mass M and radius R. The distance of the point on its geometric axis

from its centre at which the gravitational field is strongest is

2.8 ST $08890 T0EY 9350°3 M 08050 arsardo R. AR 275 Medch e80
2 o @ 0e DO Hher ;58 3.0 e Doty Ty, Srdo
Options :

R
28393619589. # E-

R
28393619590, ¥ 4

R

28393619591. = ﬁ

R

28393619592. ¥ V{E
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A heavy uniform rope is suspended vertically from a ceiling and is in equilibrium. A pulse
is generated at the bottom end of the rope as shown. As the pulse travels up the rope, its
acceleration at any instant is

(g 13 acceleration due to gravity)

2.4 278 508 T D8 w0 ey 8068 Ferdaahndod AN HrE e
%080, QB0S SFD DS & M), 15808 DS 2.8 80K0 &reh )8 ToHGod.
$80fo THES 28 NOTFHRS8)INE, 2 §208 B TR &880

(8 DA K¢ & 15ea0)

)|

Options :

Constant and equal to %

B0 &0nod 8% £ & Jsrso
28393619593, ¥ 2

Variable but equal to % when the pulse is exactly at the middle of the string

DEDSE 595, 5D SBE0K0 DO @y 56’ &S¢0 £ 8 Hsrs0
28393619594, ¥ 2

Constant and equal to g
-8393619595. % SO GOLNOA HOAW g § Ndrdo

Variable but equal to g when the pulse is exactly at the middle of the string.
28393619596 % PO 5D, 5°R SEOHO SO B DB’ &) ¢ ‘g’ 8 HIrS0.
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A wave 1s given by the equation y = (0.02)sin(7x—877) then the velocity of the wave

is (v and x are in metre and t s in second)

y = (0.02)sin(7x - 87£) dadEBea0 o 07 drdodiads $dofo @), Ko
(v B350 1 DEFES 805 t DESS’ Gy o)

Options :

-1
28393619597, * 16 ms

-1
28393619598, % 2 MS

=1
28393619599, ¢ 8 MS

=]
28393619600, % 18 ms
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An empty tank has concave mirror as its bottom. When sunlight falls normally on the mirror, it is
focussed at a height of 32 cm from the mirror. If the tank is filled with water upto a height of 20 cm,
then the sunlight focusses at

(refractive index of water = i )
3
2.8 gd éJf-‘é]oé) otdif gefid Qersd dbjemo a)h. mﬁésuo@ ©0R0rP U)ER07 siBIaN:) tbso

06 32 cm J6° rtse08 SoRENG. oD 20 cm A 56 88" obi drdso8
Lobgady ¥

8 38555 ot =)
;

Options :

16 cm above water level
28393619601, % «595 axk88e0 SHod 16 cm ?A_:}'.‘:)

9 cm above water level
28393619602, ¢ «Ejf?'..' aabdeo ok 9 cimn E}r‘{)

16 cm below water level
28393619603, % & &HdBeo Ho& 16 cm Bod

9 cm below water level.
28393619604, # 5&' &axbdeo od 9 cm Lg'vDCS

Question Number : 102 Question Id : 2839364902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



When Young's double slit experiment is performed in air, the Y-coordinates of central maxima and
10" maxima are 2 cm and 5 cm respectively. If the apparatus is immersed in a liquid of refractive

index 1.5, the corresponding Y-coordinates will be

D6 ol ot Do PR F05:t SolrBao HBdm 105 fBme Y-0irsse SHdm

2 cm %8 5 cm. & (H@rf 508med 1.5 SEHSS o Ko (5508 S00DSH 8 Honodd

NErdERe) St
Options:

28393619605, % 2 cm, 7.5 cm

28393619606, % 3 cm, 6 cm

28393619607, ¢ 2 €M, 4 cm

4 10
— Ccm, — Ccm
28393619608. ¥ 3 3
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A clock dial has point charges g, -2q, -3, .......... -12q at the positions of the corresponding numbers

on the dial respectively. The time at which the hour’s hand points the direction of the net electric field
at the centre of the dial is

(Assume clock hands do not influence the net electric field)

2.8 flairGan 36 Soth Sowodd Sogge &6 -q,-29,-3q, ......... -12q Doth sFésmen S,
hdieSo B& Soldo £ DS F 858 & w0 By Kobe dneys® 200,

(KbaieBsn soegen 308 DeigS 3807 (Herisin SrBShEhin)



Options :

28393619609, * 6 :30
28393619610, ¢ 9 30
28393619611, % 10:30

28393619612, ¥ 12:30
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The electric potential at a place is varying as V = % ( y —4x ] volt. Then the electric field at
Xx=Imandy=1mis )

28 ($3%06° Qs FOYHS V:%[y: —4x ) volt m SRy, eowd x=1m sda

y=1msyg a8 §do

Options :

o q
28393619613, * 211] Vm

—2i+j Vm'
28393619614, #

At Eiepod
28393619615, v 21—] Vil

AT A el
28393619616, * —21172) Vm
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When a potentiometer 1s connected between the points A and B as shown in the circuit, balance point

Is obtained at 64 cm. When it is connected between A and C, the balance point 1s 8 cm. If the
potentiometer 1s connected between B and C the balance point will be

&8 EPERGr Dotrthrid Ht08° S A, B dothide ey B9 Soder Dothih 64 cm &t AEEIE.
A, C o il 50055t Moo Dockvsy § em K 88856, e SPBAGR ot B, C o i

505 oders Dociny e iy

Options :

28393619617, ¥ 8 cm

28393619618, ¢ 26 cm

28393619619, ¥ 04 cm

28393619620, ¥ /2 ¢m
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In the given part of a circuit, the potential at point B is zero. Then the potentials at A and C respectively
are

B $e608%) ¢rodt, Doy B 3 FEANES Eriso. woni dothihen A bl Co

36 PBYHS Denen S

150 250 2V

2 e MW WA
A B C
Options:

28393619621, # 15V, 2V

+15V. 2V
28393619622, # 2

+1.5V, +0.5
28393619623, % 15V, 05V

+1.5V,-05V
28393619624. ¢
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A conducting wire PQ carries a current 10 A as shown in the figure. It is placed in a uniform magnetic

field 5 T which 1s acting normally outside from the paper. Then the net force experienced by 1t 1s

PQ ey 2.8 aeid 8K Do ey 10 A 31{3535@ Rarsean OG0, 830 shae0s
oonor® adbBIH% &%) N808 wchIod §go 5T & somrh. wond © 8 ekird 303

Q80 poaD

4cm

dcm A Gcem

Options :

28393619625, % 0

28393619626, ¢ O N

28393619627, % 30N

28393619628. # 20N
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A long straight wire carries a current of 18 A. The magnitude of the magnetic field at a pomt 12 em

from 1t 1s

28 FEIS B8 S 18 A DS (HIry0d. & 0D 12 em drdos eohros I

20700
Options :



28393619629, % 1.5X10° T

28393619630, * 2X10° T

28393619631, v 3X10° T

28393619632, % 1.8X10° T
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A bar magnet has coercivity 4¢10° Am™ . It is placed inside a solenoid of 12 cm length and 60 turns.

The current that should be passed through the solenoid to demagnetise the bar magnet is

28 Botidmod A 4x10° Am™. 829 12 cm &0, 60 iy o 28 Fdwons e

sot. &% ﬁodcﬁjﬁﬁowﬁh Qédﬁjﬁv&o%éiﬁm Faoed FDaont o Hos HeDd &)Eﬂ)é@

(LA

(eTeain
Options :

28393619633, % 2 A

28393619634, ¥ 4 A

28393619635, * 0 A

28393619636, ¢ S A
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When a current ‘1" through a solenoid is Increasing at a constant rate then the induced current is

28 O Ko [Hirod QxS (Sariro T & %66@55 2008, 6
(2BEHody xS (Saririin
Options:

Constant and it will be in the direction of *1°

58393619637, % SO0 SO ‘i BEE® aothd

]

Constant and it will be in a direction opposite to the ‘i

G50 Hobdsn ‘I’ BEDH E.‘ié@éé BES° dothHH
28393619638. ¢ @

Increases with time and it will be in the direction of ‘1’
28393619639, ¥ Sre0ft e HIDD Bk ‘i’ BES® GoHd

Increases with time and opposite to the direction of ‘1’

58393619640, % SO0 Pt DD SO i’ HEL HBTE HIS® S0t
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In a pair of adjacent coils if the current in one coil changes from 10 Ato 2 A inatime 0.2 s, an emf
of 120 V 1s induced in another coil. The mutual inductance of the pair of the coils is

98y, 5518 &) 2.8 26 & HOS, 2.8 NS &G 9770 10 A 908 2 A% 0.2 s 7008
AP, Bt & S (BD0SaS emf 120 V. & <) 236 38y, s (D88 o

a



Options :

28393619641, # 2H

28393619642, ¥ 3H

28393619643, # 6H

9H
28393619644, #
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The power factor of an AC circuit containing peak current 2 A and peak voltage 1V is 1/2, then

the angle between voltage and current is

NS WaTsT0 2 A K00k SITE 1 V EON ) AC sS0000 T, Aredsiheso
112, @00 S8 500 DS TP s Feao

Options :

28393619645, % 30°

28393619646, ¥ 45°

28393619647, % 90°

28393619648, ¢ 00°
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If a plane electromagnetic wave has electric field oscillations of frequency 3 GHz then the
wavelength of the wave is

(speed of light in vacuum = 3x10° ms’)

28 D80 b 08 dSofo T, IS IS Bomre TS0 3 GHz aod,
@)% & édolio ) Sdolgdso
(Er:06 08 56 = 3x10° ms?!)

Options :

28393619649, v V-1 m

28393619650, % 0.2 m

28393619651, * 100 m

28393619652, ¥ 0.003 m
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The de Broglie wavelength of an electron accelerated between two plates having a potential

difference of 900 V is nearly

900 V Bchd B&o Ao ok & H&; :0e38)80 o JOFe ds &5h
5013850 SEST

Options :

28393619653, % U.015 nm

28393619654, ® 0.01 nm

28393619655, ¥ 0.02 nm

28393619656, ¢ 0.04 nm
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If an electron is moving in the 4% orbit of the hydrogen atom then the angular momentum of the

electron in ST units is

25 JOIFS GRS HESPNY TE) 4 8538 BEHARDYIID, & Jo|FS Tk Fedah
8530 ST srered
Options :

h
28393619657, % T

2h

28393619658. ¢ T



28393619659. # T

28393619660, # 21
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The energy equivalent to a mass of | kg is

| kg (5350798 DTS ¥8

Options :

13
28393619661, % 2x10°°J

i
28393619662, % Ix107J

&
28393619663, ¥ 9x107" ]

L4
28393619664, % 9X10°)
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If S 1s the surface area of a nucleus of mass number A, then

A (8553073 Doy He 2.8 So|e80 T eNdee T30 S ®ond



Options :

28393619665, ¥ S € A

- 153
28393619666, % S € A

28393619667, % S € A

. 203
28393619668, ¢ S * A
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[n a transistor, the base current 15 10 pA and the emitter current 1s 1mA, then the collector current is

28 E7R)HES", 70 g 10 pA HB &GOS DeigS ImA, ©and 0806 DS
Options :

28393619669, ¥ 270 HA

28393619670, % 100 pA

28393619671, % 1010 pA

28393619672, % 20 pA

Question Number : 119 Question Id : 2839364919 Question Type : MCQ Option Shuffling : Yes
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If the output of a NAND gate is given as input to a NOT gate, the resultant gate is

2.8 NAND o580 3B}, 847 2.8 NOT o 1808 dS3orr oww), HOé orsdo

Options :

28393619673, v AND

28393619674, % OR

28393619675, ¥ NOR

28393619676, ¥ NOT
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A message signal of frequency 10 kHz is used to modulate a carrier wave of frequency 6 MHz,

then the side band frequencies are

6 MHz 2redeyeds0 o a8 $8080 O SrdiBe Tohmds 10 kHz )50 Ko Sods
NOSER) GOEFA0DS, ;3“6;55)@3&3 T RL) TSN

Options :
28393619677, * 6090 kHz, 610 kHz

28393619678, ¢ 990 kHz, 6010 kHz

28393619679, % 6000 Hz, 1000 Hz



28393619680. # 6000 kHz , 6100 kHz
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The radius of third orbit of hydrogen atom is R pm. The radius of second orbit of He™ ion
(in pm is)

TEES H88ren & Karcsad E 5 argrdo R pm. He' evaird B, Bocsd §5 arsardo
(pm o )

Options :



iR
28393619681, ¥ 3

3
28393619682, # 4

9
—R
28393619683, # 2

2 R
28393619684, ¢ 9
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The threshold frequency of a metal is 10°s™ . The ratio of maximum kinetic energies of the
photoelectrons, when the metal is made to strike with radiations of frequencies 1.5x10"s™

and 2.0x10"s™" respectively is

a8 Soro g 8808 o 10057, & SHESGIr 1.5x10%s S8k

20x10°s" Fdsyrien fo Boerod &EoOINIE IIE PFE JOTY K0a
Hezdie A8

Options :
28393619685, % 2: |

28393619686, ¢ |1 2

28393619687, % 43



28393619688, % 3: 4

Question Number : 123 Question Id : 2839364923 Question Type : MCQ Option Shuffling : Yes
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Consider the following
I) The order of first ionisation enthalpy of first three elements of 3™ period is
Mg > Al>Na
II) The element with electronegativity of 3.5 is chlorine
1) The order of sizes of ions Mg**, Na, F~ and 0" is Mg <Na'<F <0"
[V) The IUPAC name of the element with atomic number 106 is Bohrium
The correct statements are

1808 €3 HBKBo0B
) Srcsd HECHE SR FndeS Lirch Srese (HES OFTrIEAS 05O,
|5a00 Mg > Al > Na
) Seaddseresds 3.5 fo diredo 568

1) Mg*, Na', F, 0" excirs o pere ($0 Mg <Na'<F <0”

V) H&Sren Sos 106 fo surexdo IUPAC a0 S6aho (Bohrium)
QO TN

Options:
28393619689, * 1 & Il only
28393619690, * 11 & Il only

28393619691, v 1 & Il only

28393619692, * 11 & IV only
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Match the following

List I List-11
(Molecule /ion) (Shape)
A) SnCl: I.  Trigonal planar
B) NH; II. Linear
C) I III.  Angular
D) SO; IV. Trigonal pyramidal

The correct answer 1s

1808 T7¢3Q 2D THNAW

2d)ese | erdese ||
(€9£200Y) / @OITR) (e35ye3)
A) SnCl L (@50 30800
B) NH;j 1. BHavo
O 1; . &edoH
D) SO; V. (880 drorgsdo

N0A e L0

Options :

28393619693, * A-IIl, B-I, C-1I, D-1V

28393619694, % A—1V, B-Ill, C-1, D-1I

28393619695, * A—1II, B-I, C-1V, D-1I

28393619696, ¢ A—III, B-1V, C-II, D-1
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[n which of the following set of molecules the hybridisation of central atoms is different?

1808 & ©509© DWBS’ DS (S0(58) HESTEwIen DY) H0¥bEB00S Earyaw?

Options :

28393619697, % H20, NH3, CHy

28393619698, * CIF3, XeFa, PCls

28393619699, # CO2, CO, BeF:

28393619700, ¢ SF4, XeFs, CHq4
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At 300K and 760 torr pressure, the density of a mixture of He and O; gases is 0.543 gL

The mass percent of oxygen approximately is

(R=0.0821L atm K 'mol™)
300K, 760 torr a0 ¢ He, 02 o (300 aro(he 0.543 gL' es8)a8 (35073

TS0 Sardabr
(R=0.0821Latm K 'mol™)

Options :

28393619701, ¥ 33



28393619702, v 8U

28393619703, * 20

28393619704, ¥ 67
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The equivalent weight of which of the following 1s maximum?

(Given: atomic weights Na =23, Mn=>55,Cr=52,K=19,0=16,C=12)
1Bo® e3¢5 BAE eversoderdo HON0?

(20))c5a): Bdrenzroren Na=23, Mn=55,Cr=52,K=19,0=16,C=12)
Options:

Na,C,0, . 2H,0

28393619705. ¥

i
28393619706, * KMnO, | H

28393619707. * KMHO4 | HEO

K,Cr,O, |H”

28393619708. #
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Correct Marks : 1 Wrong Marks : 0
[f 2.5 moles of an ideal gas at a certain temperature are allowed to expand isothermally and
reversibly from an initial volume of 2dm® to 20dm?, the work done by the gas is -16.5kJ.

The temperature (in K) of the gas is (Round off to the nearest value)

(R=8314JK 'mol" )

28 QoD G| ¢ 2.5 mole © 2.8 6658 aroi) Naras Gle)Heabor &
D890 2dm’ 108 20dm? & 7580 ToASYE O 28D HA -16.5k]
oS Fang Gl K o) (&6 yrgrodorr)

(R=8314] K 'mol’ )

Options :

28393619709, ¥ 443

28393619710, % 245

28393619711, ¢ 345

28393619712, % 145
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A solution 18 prepared by mixing 10 mL of 1.0 M acetic acid and 20 mL of 0.5M sodium
acetate and diluted to 100 mL. If the pK, of acetic acid is 4.76, then the pH of the solution is

10mL © 1.0 M ¢35 esed0e 20 mL © 0.5M &&0H0 e & £92 100 mL %
DOX80 T 2.8 [TeT) ST TG, INEE eedo pKy 4.76 9o &5 | e0 pH

Options :

28393619713, ¢ 4.76



28393619714, * 3.76

28393619715, ¥ 210

28393619716, % 9.24

Question Number : 130 Question Id : 2839364930 Question Type : MCQ Option Shuffling : Yes
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Consider the following statements about the hydrides

[) Sodium hydride with water liberates oxygen gas

[[) Methane, silane are examples of electron precise hydrides

[1I) Ammonia and water molecules are examples of electron deficient hydrides
IV) Hydrides of beryllium and magnesium are polymeric in structure

The correct statements are

P B 50 0020500 (508 5D 268Sothhan

[) FAMDO B ASS, 8188 T DB TRod

1) DTS, DB €0 JO[TN e ED B0 e 3 BS 8§ GorTdnen
1) 937Q05T, A DN IO TS FESHe T T S Grrardnen
V) B860%0, DAYNAN0 T B FODOE Joveren fe> 37 B
QO T EeN

Options :

28393619717, » 1 & Il only

28393619718, * 11 & IV only



28393619719, v 11 & IV only

28393619720, * 1 & IV only
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The nitrate of which of the following metals does not liberate NO, gas on heating?

808 2 S FHE & 36 T8 NO, csneg e see?

Options :

28393619721, % Pb

28393619722, % Ba

28393619723, % Li

28393619724, ¢ K
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Match the following

List -1 List-1I
(Substance) (Use)
A) NaO, I. Photoelectric cells
B) DO [I. Antacid
C) CGCs [II.  Oxidising agent
D) 1"»"13;('(}H)2 IV. Moderator

The correct answer 1s

B0 T7e3R) 23650

e - e |
(drgo) (&HTrH0)
A) NaO, . 506 DensQEFTen
B) DO 1. e
C) Cs 1. es8 56563
D) Mg(OH), V. 3IsBed (s d)
DO NP0

Options :

28393619725, « A-IILB-1V,C-1,D-1I

28393619726, ® A-1V,B-1ILLC-1,D-1

28393619727, % A-1IILB-1V,C-I,D-1

28393619728, # A-ILB-1IV.C-1,D-1II
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What are the correct statements about the elements of group 13 given below?
[) The stability of +1 oxidation state follows the order Tl > In > Ga

II) Boron has the lowest melting point and boiling point as it is a non-metal
[II) Boron shows a maximum covalency of 4 in its compounds

IV) The order of atomic radius 1s Ga=Al>In

V) Aluminium is passive to concentrated nitric acid

111 13 Srosod H020800 (80O 2 OB a8 Dien?

) +1 8355 D B, VES 50 ©0080T 550 T > In > Ga

I1) S'0°Q 950 8 EQa (BN, 2011285 FFarerd §6) &oenod
) oS o Sangarod §83 DTreAoNS 4 & (HS0N0d

IV) d8adren aesrgre (oo Ga>Al>In

V) e0exrsndapo me S1¢35 eao & (8asrdareornr sotnod

Options :

28393619729, v L 11 & V only

28393619730, # 1L, IV, & V only

28393619731, * L II, & IV only

28393619732, % U, IV, Vonly
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Assertion (A):  Graphite is used as a dry lubricant in machines which run at high temperatures

Reason (R):  The layers of graphite slip one over the other when pressure is applied

ABB0 (A): TR & 0% &&ffS 5O 9 T oo 0BT GBS
5800 (R): %0 EniBAHE TS SR §P8e 2.8 TAD 2,468 erdeEon

The correct option among the following is
& 1500 2508 HOTRO
Options :
(A) is true but (R) is false
28393619733, # (A) 2:03) 5°Q (R) Sa3)

(A) is false but (R) is true
28393619734, # (A) 8315 (R) 2.

(A) and (R) are true. (R) 1s the correct explanation of (A)

28393619735, ¢ (A) 008G (R) 2ua)). (A) 05y O 2086 (R)

(A) and (R) are true, but (R) 1s not correct explanation of (A)
28393619736, # (A) 0OAW (R) 2ua)), 5 (A) A8y SO DG (R) 57C0
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The correct [IUPAC name of the compound given under is

18065 @S 5298 DaFS0 Ty DOTS IUPAC 7h0

NG,

v U Br
C,Hs



Options :

4 — Ethyl - 2 -bromo — 4 - nitrobenzene
28393619737, % 4= ABS -2 - | F'Ir - 4 - JE'BoES

2- Bromo-1-ethyl -4- nitrobenzene
28393619738, ¥ 2- 8 3 -1- 3B S-4- FEBoES

3 — Bromo — 4- ethyl — 1 nitrobenzene
28393619739, % 3-&Ar -4- B S-1- JE'BoLES

| — Ethyl -2 -bromo — 4 — nitrobenzene
28393619740, % | — 3BS-2 - (-4 - B EB0oES
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In which of the following hyper conjugation is not possible?

1808 e3¢S" B AHOH @& HOANHI0 DEeNSE?

Options :

28393619741. ¢ “—

i

: 1:_ CH{CH;]:
28393619742, % \—/

7\
(/" )—CHy-CHy

28393619743, % \—/



—

28393619744, % CH: — CH: — CHz

Question Number : 137 Question Id : 2839364937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. (CH,;),C=CH, %M, X +CO, +H,0

I. CH,-CH=CH-CH,—=2 Y

The functional groups in X and Y are respectively

X, Y o (HhahH Heorerfen S

Options :
o B 0
28393619745, % H
OH
0O , 0O
28393619746, ¢
0 . 0O
28393619747, % H
8] ; 0O
Q)
28393619748, H
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Correct Marks : 1 Wrong Marks : 0
Identify the major product B in the given sequence of reactions

BOB BT EDN0S’ DTS ¢5e¢h 1510 B &8 HB00S50

- g H: " i(-hH_‘uL-U 'Z(}: N
CH,-C=CH i A o »B
Options:
CH:— CH — CH:s
|
28393619749, # Br

28393619750. ¥ CHJ _CHE _CHEBr

CHs; — CH — CH:Br
|
28393619751. # Br

28393619752, * CH; —CH, —CHB,

Question Number : 139 Question Id : 2839364939 Question Type : MCQ Option Shuffling : Yes
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At T(K), copper (atomic mass = 63.5 u) has fec structure with an edge length of x A.

The density of copper (in g cm™) at that temperature approximately is

(N,=6.0x10"mol")

T(K) 58 @0therS) x A &, 06 (38Srew (395077 63.5 u) fec Jo°erR) 50

00, 98 G|liS 5@ £I6 Fo(¢é (g cm™ &) SSrSEDT (N, = 6.0x10% mol”)

Options :

28393619753. #



4.23
28393619754, % x°

423
28393619755. ¢ x°

212.5
28393619756, % X

Question Number : 140 Question Id : 2839364940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The vapour pressure of a pure liquid A is 70 torr at 300 K. It forms an ideal solution with

another liquid B. The mole fraction of B 1s 0.2 and total vapour pressure of the solution

is 84 torr at the same temperature. The vapour pressure of pure liquid B (in torr) is

300K 56 HABS0 A 2ria) 90 70 torr. 38 B 980 8 (G508 e8| THeTR),
2615008, B IS 270 0.2 800 o8 &S S¢ (o030 a0
84 torr @one, HR:S50 B a0 (torr o)

Options :
28393619757, v 140

28393619758, % 20

28393619759, % 120



28393619760, ¥ 80

Question Number : 141 Question Id : 2839364941 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The electrode potential of chlorine electrode 1s maximum, when the concentration of

chloride ion in the solution (in mol L) is X. what is the value of X?

(562065 §8& @05rS meses (mol L o) X &), §88 o\ §& T,
205G 350 60220. X Densd Dodh?

Options :

-3
28393619761, ¢ 2-3x10

-3
28393619762, ¥ 71-3x10

-2
28393619763, % 7-3x10

=9
28393619764, % 2.5x10

Question Number : 142 Question Id : 2839364942 Question Type : MCQ Option Shuffling : Yes
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[f benzene diazonium chloride undergoes first order decomposition at T(K) with a rate
constant of 6.93x 10 min"', the time for completion of 90% of the reaction (in min) is

(nearest integer) (log 2=0.30, log 3 =0.477)

T(K) $¢ BodS BIS'A0H0 §BE (H6(E5r0% e Bew ¥0°0%0 6.93x 107 min™

@00 &8s 90% I8 THErAE HTe0 RNXOS) (16 Frgrodo)

(log 2=0.30, log 3 =0.477)

Options :

28393619765, % 13

28393619766, % 30

28393619767, ¢ 33

28393619768, ¥ 43

Question Number : 143 Question Id : 2839364943 Question Type : MCQ Option Shuffling : Yes
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[dentify the factors which favour the physical adsorption from the following
I) High surface area
[1) Low temperatures
[1I) High temperatures
IV) Low pressures

V) High pressures

T8 AT ATA8 ©NEroRS woTed 1808 T¢3008 Hlothsm
[) &8 Gadede T30
1) ee) sl |Heden
[l) &S saf|ieden
V) @) acharen
V) @68 a8%aren

Options :

28393619769, * L 11 & IV only

28393619770, v 1, 11 & V only

28393619771, % 1 & V only

28393619772, % L I & IV only

Question Number : 144 Question Id : 2839364944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Sphalerite, siderite and malachite are the ores of metals X, Y and Z. The atomic numbers

of them are respectively

0D, DEDE DB Sred & e SHIT X, Y, Z 0F S Téden. ¢
DOTED RO LN DT

Options :

28393619773, ¢ 30, 26,29
28393619774, ¥ 26, 30,29
28393619775, % 30, 29, 26

28393619776 % 29, 30, 26

Question Number : 145 Question Id : 2839364945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the reaction p, + 3NaOH +3H,0 > Q +3NaH,PO,

Identify the reaction in which Q is not the product. (Equations are not balanced)
& W05 DOMEIIOC P, +INaOH +3H,0 » Q +3NaH,PO,

Q 55150 DEIBR L3850 HBOLHSW. (Da1EGETeD 1e50 TOHDBS)
Options :

Ca,P,+TH,O —
28393619777. ¥ 302 2

A
28393619778, % H3PO; >



28393619779, % T4l TKOH -

28393619780, ¢ T ClsTH,0 —

Question Number : 146 Question Id : 2839364946 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The oxidation states of sulphur atoms and number of S — OH bonds in Peroxydisulphric

acid are respectively

208)BI0r)585 @0 & 5038 HBSrange et 156 even, S OH 2o
QODLEN DT

Options :

28393619781, % (16, +5),2

28393619782, % (16, 10), 4

28393619783, ¢ (16, 16), 2

28393619784, * (13, 15), 4

Question Number : 147 Question Id : 2839364947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



[dentify the correct statements from the following

[) Auis soluble in aqua regia but not Pt

[I) Among the oxoacids of chlorine highest oxidation state possible for chlorine is +7
[II) Among the hydrogen halides lowest boiling point is for HCI

[V) The order of stability of oxides of halogens is Cl > Br > |

1808 FES’ ST T HOOHHW

) (&80720 (65702057 S Au E5He0d 5 Pt §515

) 588 &8 ) srod §88 % doab; (100 ed 5660 VS +7
1) 3E2S FSAS A a7 )BdaTrs0 HCI § G0enod
V) 5S'28 658 & Qs 0 Cl1>Br>]

Options :
28393619785, % 1 & Il only
28393619786, v 11 & 11l only

28393619787, * 1 & IV only

28393619788, * 11 & IV only

Question Number : 148 Question Id : 2839364948 Question Type : MCQ Option Shuffling : Yes
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K
Xe(g)+E(8)—mm— X )

(L :20)
X+H,0—7Y+HF
X+3H,0 - Z + HF

The correct statements regarding Y and Z are
[) Y has square pyramidal geometry
[I) Y has linear geometry
[lI) Zhas 35,37 bonds and 1 lone pair of electrons on the central atom

[V) Z has tetrahedral geometry
Y, Z © 5 Q020500 B aF5Den
[) Y 50810 8RS 2rsabesn) SO0 &otnod
1) Y 305 2rs0e $OR &0énod
1) Z S0 30,37 205D, S0(GEDGAaT) = | 2,080 208 &[T GOotron

V) Z 5008909 27508 $OR &0tnod

Options :

28393619789, v | & Il only

28393619790, % 11 & 1 only

28393619791, % 1 & IV only

28393619792, % 1 & IV only

Question Number : 149 Question Id : 2839364949 Question Type : MCQ Option Shuffling : Yes
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The number f-electrons in +3 oxidation state of gadolinium (Z=64) 1s x and in +2 oxidation state

of Ytterbium (Z=70) 1s y. The sum of X andy 1s

+3 8 )50 VRS’ RASV0H0 (Z=64) S04 f- O[T 03 x O +2 &8 )588 PSS’
0000 (Z=70) Sy @and x, y o Indo

Options :

28393619793, ¥ 13

28393619794, % 20

28393619795, # 18

28393619796, ¢ 21

Question Number : 150 Question Id : 2839364950 Question Type : MCQ Option Shuffling : Yes
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Match the following

1808 T¢3Q 26TV
List I (complex) List-1I (electronic configuration of metal/ion)
e -1 (20320) e - 11 (S'sF | Srecsrs JOFT dvN0)
A. [Co(NH,),]" L . o
B. [CoF,] IL. b, &,
C.[Ni(co), | IIL. 6.0,
D [Fe(CN),] Iv. e

The correct answer 18
NIoEIVINEAN W N Te)

Options :

18393619797 v A—1I, B=1III, C-1V, D -1

8393619798, * A—1III, B— IV, C—-1I, D-1

18393619799, * A—=1V, B=III, C-1, D-II

28393619800, * A —1I, B—1, C-1V, D —1II

Question Number : 151 Question Id : 2839364951 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Amongst the following, how many of them come under the category of elastomers?
Natural rubber, polyethene, vulcanized rubber, bakelite, polyvinylchloride, Buna-N,

Nylon 6, Neoprene

808 FES’ ) , AereFHb © STRE Totveran?
$era60)8, FOOS, S0y TRE 62)5, FEBE, FOITSEH, angd-N, Ferd 6, IBFHS

Options:

28393619801, ¢ 4

28393619802, ¥

28393619803, ¥ 3

28393619804, % ©

Question Number : 152 Question Id : 2839364952 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the incorrect statement about maltose?

S7e325 K0 H0230800 (808 73S’ OO HOTS T 5§ S°EN?
Options :

[t is a reducing sugar
28393619805, * 2O 50085 86

[t is composed of two @ -D- glucose units
-8393619806. % OV DO A -D- (ire’sf crdty Goerow.

28393619807. ¥



[t is composed of one g -D- glucose and one g -D- galactose unit
AIS 2.8 g -D-108%F, a8 g -D- refS dardd soéron

It has 1, 4 — glycosidic linkage
28393619808, *# QOVADOD 1, 4 — TEVAS 2050 G0V

Question Number : 153 Question Id : 2839364953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not correctly matched?
B0B ¢3S’ DO DO 2STOHDSSEN?

Options :
Butylated hydroxy toluene — Antioxidant in food

28393619809, % E.l}g@@ﬁl{fg ?Lﬁ‘gn‘j essé)rs = @:ﬁé:ﬁ@gﬁéﬁa osroe3 E’:ﬁgggéﬁ

Chloramphenicol — Antiseptic
28393619810, ¥ 5070 DIS'S - airoe3 1PE

Norethindrone — Antifertility drug
28393619811, % VOBSIES - Aroed PO S0

Alitame — Artificial sweetner
-8393619812. % @OV — EHAD S5 EE0

Question Number : 154 Question Id : 2839364954 Question Type : MCQ Option Shuffling : Yes
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Which of the following is least reactive towards S,2 reaction?

1808 783’ D& S2 5555 @aehsed ) 05T EE) G0OEN0d ?

Options :
CH3
CH,- C -CH,Br
CH3
28393619813. #
%
CH,-CH-Br

28393619814. #

28393610815, * CH; —CH, —CH, Br

28393619816. ¥

Question Number : 155 Question Id : 2839364955 Question Type : MCQ Option Shuffling : Yes
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Phenol is mainly manufactured from a compound X by subjecting it to oxidation in

air followed by treating with dilute acid. Identify the compound X

X @05 808 O 0508 ©8 15880 T &8 Sow 56 H2e B80S 5652368
DTS ) (DETSOM e )& TP, D P50 X & HBothSw

Options :

28393619817. #



+
N2C1™

CHO

28393619818. # i

@,CH3
28393619819. #

(A
28393619820. ¥

Question Number : 156 Question Id : 2839364956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify A and B from the following reactions

1808 585 0G A, B ©a0 tH80cham

I) CH,—CH=CH-CH,—3>>—2X

(i) n-H,0

1. NaOH(dil) (i) Oy 5
m 2X 2.A >Z (ii) Zn-H,0 >A+B
Options :

28393619821 * CH; —CHO + HCHO

28393619822, ¥



CH3CHO + (leD

CHO

78393679823, * CH; —CH, =CHO + CH ,0

CHs — (|:|'— CH; + {|:HO
28393619824, # O CHO

Question Number : 157 Question Id : 2839364957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What are the products X and Y respectively in the reactions I and 117

I, 11 58508 Gy en X, Y e SHOM J9?

OCH: o
Il
HI N
L —> X n CHs (i) NH:-NH:
KOH / Glycol
CH30 &

CH;

Options :
OH
CH3
CH;O

28393619825. ¥ CHas

28393619826. #



CHs

HO
CH:s

OCHa

O

1

. CH3s
HO
28393619827. # CH:I
|
?H
CH
’ \Cﬂj
H:CO

28393619828. * CHa
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Consider the following reaction sequence

180 B0 ($arR) Bfedoti0dk

ozonolysis (i)CH Mg Br Yy Cu y 7

But-2-ene 0" ey

LEVEG@O . ()CHMgBr o Cu
argd - 2. %8 B IMn it

The correct statements about Z are

Z 5 2020800 O T §DIEN.

. Tt gives yellow precipitate with 1, and NaOH solution
38 1,, NaOH (8008 Hi05) 858 05 23900

[I. It undergoes disproportionation reaction in the presence of concentrated NaOH solution
26 e NaOH 5508 065" @9evared 19855 Sededeod

1L It undergoes wolft-Kishner reduction
a0 &6)-82)5 § 08080 H SSH0d

[V. It forms red precipitate with Fehling's reagent

20 ar0of S50 JER 858 N0 FN0H
Options:
28393619829, # 1 & Il only
28393619830, * 11 & Il only

28393619831, # 1 & IV only

28393619832, v | & Il only

Question Number : 159 Question Id : 2839364959 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0
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[dentify the product *Y” in the following sequence of reactions.

808 BYo°g (50065 &5¢53510 Y & 8000

CH;
NaOH | Brz)_ x CHsCOCly o
B
o7 “NH;
Options :
CH;

C

P _
58393610833, * O~ NH-COCgHs

CHa

,CﬁHS

 $ C=0
7 N\ 7
28393619834, # O O

28393619835, ¥



CHs

NH—C—CsHs
||
(@)
CHa3
VH"—(I‘— CHa
|
28393619836, * O
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fabaohaolic
LiAIH, CHCl;/ KOH
1 A GOy KN g

Propanenitrile

Conversion of A to B 1s an example of the reaction

{alcoholic
i.i."!'il.Hq \A {_IHEUI\.'. K[-H_] \B
4 A r g

ESEESINI (AL

A oD B a8 )80 & SO Gorardn
Options :

Reimer -Tiemann reaction

78393619837, % 000 - E30& 98



Carbyl amine reaction
28393619838, v S"00S DS 58

Stephen reaction
P
28393619839, % D™ WO§

Sandmeyer reaction
28393619840, % ~"O& JAWB B85



